— @}: APP@ A, .2 Mﬂ&?r'EV\A
i Exercce { ; . 9;55 02 TORLE
AH-M&QW % L —’-: (T)(2#331§ d
Q=A.V = 0,10 A’UJ, V:o_,i_z’?} o AWz 03156
waion d | *oia% "
Bquatien de Bewnlll 1 250 W' g2t VL gty 1R (L
105 Y g 4%

th,tq,fmb#n : %- 002 =d = 0,1‘50m (V,.=V.) @

V. 943 [0, 250)
=2y o Rz 24 QOB 5.0
0802?;0)‘ = 2,92, \07 - >
00 d
%:m_oﬂi )awﬂhd\izc&mqui % 002,35@

(g—-ool nq,yt)\\a.«sw gw-t W‘H }
1™ onakiow : { = 0,0237 —d=0258m '5\*
V= 028 |y gigmsy =y Rec A0S 2 = 0,0013Y

(6,251)2
mpﬁ;\,a.méw%mmm §=10,0235 ( Vedbun €xaoﬁw@
Exuvcva d
SannM\c\y,quMttht ewa: o=—7y 3‘0‘1 CJ
ND A6
W%M&\mﬂ&w_>\/ e ._%Ahm\i 3 %’H"'C/

oy QLR
&Mmdmu4-uzf&% D~N. D

L e
ihc"@ub(a'w\m 6?“)3 9_11'5_; yOW oo Q,_:Q,(%) @

QFL‘Q}O 11503 stv//3 @

A4n0

U, = mNAw -
"“*—- swtc dw:@_’{iﬁ l‘?:"si_ 33?5,\ = Vu= 29(5% @




'ﬁ

W= ga (0. Cro-UnGy ) owee Goy=0

> Cu=193ma - @

Uikese ayiale Cq = Q _ 352MA4

?\: A4t = ¥> - (8:
; 2

- k) 5 4&1 e (v V C\

) B oo (6a-S)pg® = IE1= SN @

") E\W\SAQQ.M FTM F’S = 1, ‘5’{—5,on P A M
h W»am H’- = 1,
o L= 1,380 deal?j 4,25410" Pa.

pa == f)z 1,25 m

ﬂvz(p«w\,m 4 Tullony §>-MW 2dS = §>5V(v w) ';alSO—}(M -hs )S fVC f
Vo 2V8, o Is, Y5 = 8 z.(\/ V]—>AH (Vl‘vb)éymdn.h&:«!« ant
1t

et




